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H18 H19 H19
H18 H19 H19 H19 H19 H19

(n=9) (n=10) (n=10)
2.89 330 3.60 535
( 60) (48 (52 : (p<10
2.78 3.30 3.60 263
(44 (48 (70 p<os)
311 2.80 3.00
(93 (63 (67 ~264
2.38 290 3.30 817
(52 (89 (8 (p<0l)  p<05)
3.00 320 350
(7) (79 (59 535
2.22 3.10 3.60 117
(67) (.74) (52) p<.05) ‘ (p<.10
2.78 3.10 310
(8 (78 (74 ~429

350 340 .899

(7)  (.70) (p<01)

H19

2 3 4 5 6 7 8
1 -429 218 342  700* 53 530 163
2 =145 -447 -175 218 -094 -163
3 161 535 .048 048  .745*
4 354 189 189 .269
5 pc J725*  725* 598+
6 796 319
7 106
8

* p<.05 p<.10




